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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 



 [ 2 ] S-126 

 A-38 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Statistics. Give the importance and uses of 

statistics in various fields.  

lkaf[;dh dks ifjHkkf‛kr dhft,A lkaf[;dh ds egRo o 

fofHkUu {ks=ksa esa blds iz;ksx ij izdk’k Mkfy,A 

2. Write an essay on Integration and its uses in economic 

theory. 

lekdyu rFkk vkfFkZd fl)kUrksa esa blds vuqiz;ksxksa ij 

fuca/k fyf[k,A 

3. What is Regression ? Give the properties of Regression 

Coefficients. From the data given below obtain two 

lines of Regression. Find the value of Y when X = 

67.5. find the correlation coefficient between Y and X : 

X Y 
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70 

68 
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izfrxeu D;k gksrk gS \ izfrxeu xq.kkadksa ds xq.k fyf[k,A 

Åij fn, x, vk¡dM+ksa ls nksuksa izrhxeu js[kk,¡ fudkfy,A 

;fn X 6 7 .5  gS rks Y  dk eku Kkr dhft,A Y  vkSj 

X  ds chp lglaca/k xq.kkad Kkr dhft, % 

X Y 

65 

66 

67 

68 

69 

71 

73 

67 

67 

68 

74 

72 

70 

69 

70 

68 

4. (a)  If A = 

1 2 3

4 5 6

7 8 9

 

 

 

  

 and B = 

5 6 7

1 2 3

4 5 1

 

 

 

  

  

find : 

(i) 2 A  + 3B 

(ii) AB – BA. 

;fn 

1 2 3

A 4 5 6

7 8 9

 

 


 

  

 rFkk 

5 6 7

B 1 2 3

4 5 1

 

 


 

  

  

Kkr dhft, % 

(i) 2 A  + 3B 

(ii) AB – BA. 
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(b) If 

1 3 3

A 1 4 3

1 3 4

 

 


 

  

 find A
–1

. 

;fn 

1 3 3

A 1 4 3

1 3 4

 

 


 

  

 rks 1
A

  Kkr dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by functions ? Give the use of 

functions in economic theory. 

Qyu ls vki D;k le>rs gSa \ vkfFkZd fl)kUrksa esa Qyuksa 

dss vuqiz;ksx ij izdk’k Mkfy,A 

2. What are Optimization Techniques ? Give the various 

optimization techniques which help in solving 

economic problems ? 

vuqdwyre rduhdsa D;k gksrh gSa \ fofHkUUk vuqdwyre 

rduhdsa crkb, ftudk iz;ksx vkfFkZd leL;kvksa dks gy 

djus esa gksrk gSA 
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3. What do you mean by Dispersion ? Give the various 

types of dispersion ? 

vifdj.k dk eryc le>kb,A vifdj.k dh fofHkUUk ekiksa ds 

ckjs esa crkb,A 

4. Write a note on Extrapolation and its uses in economic 

theory. 

ckg~;x.ku o vkfFkZd fl)kUr esa blds iz;ksx ij ,d fVIi.kh 

fyf[k,A 

5. What are the Index numbers ? Discuss the various tests 

for Index numbers. 

lwpdkad D;k gksrs gSa \ lwpdkad dh mi;qDrrk ds fy, 

fofHkUu ijh{k.k ij ppkZ dhft,A 

6. Write a briefly note on Input-Output table analysis. 

vkxr&fuxZr lkj.kh fo’ys‛k.k ij ,d foLrkjiwoZd fVIi.kh 

fyf[k,A 

7. Explain Cobb-Douglas production function. Throw 

light on its uses. 

dkWc&Mxyl mRiknu Qyu dks le>krs gq, blds mi;ksxksa 

ij izdk’k Mkfy,A 

8. What is a time series ? Give the various components of 

a time series ? 

dky D;k gS \ dky Js.kh ds fofHkUu ?kVdksa ds ckjs esa 

crkb,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. If 3
3

x
d y

e
d x

 , then y  is : 

(a) 3
e x c   

(b) 2
3e x    

(c) 3
x

e c   

(d) None of the above 

;fn 3
3

x
d y

e
d x

  rks y  dk eku gksxk % 

¼v½ 3
e x c  

¼c½ 2
3e x   

¼l½ 3
x

e c  

¼n½ mi;qZDr esa ls dksbZ ugha 

2. If the value of the determinant 
4

6 8

x
 = – 8, then x is : 

(a) 4 

(b) 2 

(c) 6 

(d) 1 
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;fn lkjf.kd 
4

6 8

x
 dk eku 8  gS] rks x  gksxk % 

¼v½ 4 

¼c½ 2 

¼l½ 6 

¼n½ 1 

3. The roots of the equation 2
2 1 1 5x x   are : 

(a) 
1

, 5
2

  

(b) 
1

, 5
2


   

(c) 
1

, 5
2


  

(d) None of the above 

lehdj.k 2
2 1 1 5x x   ds ewy gSa % 

¼v½ 
1

, 5
2

 

¼c½ 
1

, 5
2


  

¼l½ 
1

, 5
2


 

¼n½ mi;qZDr esa ls dksbZ ugha 

4. The necessary and sufficient conditions for maxima is : 

(a) 
2

2
0 , 0

d y d y

d x d x
    
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(b) 
2

2
0 , 0

d y d y

d x d x
    

(c) 
2

2
0 , 0

d y d y

d x d x
    

(d) 
2

2
0 , 0

d y d y

d x d x
    

mfPp‛B ds fy, vko’;d o i;kZIr ‘krZ gksrh gS % 

¼v½ 
2

2
0 , 0

d y d y

d x d x
   

¼c½ 
2

2
0 , 0

d y d y

d x d x
   

¼l½ 
2

2
0 , 0

d y d y

d x d x
   

¼n½ 

2

2
0 , 0

d y d y

d x d x
   

5. The mean and median of a distribution are 15 and 14 

respectively. The mode is : 

(a) 12 

(b) 13 

(c) 16 

(d) 14.5 

;fn fdlh lkj.kh esa ek/; o ekf/;dk dk ewY; Øe’k%  

15 ,oa 14 gS] rks Hkwf;‛Bd ¼cgqyd½ dk eku gksxk % 

¼v½ 12 

¼c½ 13 

¼l½ 16 

¼n½ 14-5 
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6. What is the chance that a non-leap year should have  

53 Wednesdays ? 

(a) 
1

7
  

(b) 
2

7
  

(c) 0 

(d) 1 

fdlh ,sls o‛kZ esa tks yhi o‛kZ u gks] 53 cq/kokj gksus dh 

izkf;drk gS % 

¼v½ 
1

7
  

¼c½ 
2

7
  

¼l½ 0 

¼n½ 1 

7. The value of coefficient of correlation lies between : 

(a) 0 and 1 

(b) – 1 and 0 

(c) – 1 and 1 

(d) None of the above 

lglaca/k xq.kkad dk eku gksrk gS % 

¼v½ 0 ls 1 ds e/; 

¼c½ &1 ls 0 ds e/; 

¼l½ 1  ls 1 ds e/; 

¼n½ mi;qZDr esa ls dksbZ ugha 
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8. If the value of the mean of Poisson Distribution is 5, 

then the variance is : 

(a) 10 

(b) 5 

(c) 15 

(d) 25 

;fn Ioklka caVu ds ek/; dk eku 5 gS rks bldk izlj.k 

gksxk % 

¼v½ 10 

¼c½ 5 

¼l½ 15 

¼n½ 25 

9. The constant increase in sale of computers over the last 

ten years is an example of : 

(a) Seasonal variation 

(b) Cyclic variation 

(c) Irregular variation 

(d) Trend 

fiNys nl o‛kks± esa dEI;wVjksa dh fcØh esa c<+ksrjh buesa ls 

fdldk mnkgj.k gS \  

¼v½ ekSleh fopj.k 

¼c½ pØh; fopj.k 

¼l½ vfu;fer ifjorZu 

¼n½ miufr 
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10. Square diagrams are : 

(a) One-dimensional 

(b) Two-dimensional 

(c) Three-dimensional 

(d) None of these 

oxZ fp= gS % 

¼v½ ,d&foek fp= 

¼c½ f}foek fp= 

¼l½ f=foek fp= 

¼n½ buesa ls dksbZ ugha 
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